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@ =DCOUNT(A1:D5,2,F2:F3)
@ =DCOUNTA(A1:D5,2,F2:F3)
® =DCOUNT(A1:D5,3,F2:F3)
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=TRIM(PROPER("good morning 1))

D GOOD MORNING ! @ Good Morning !
3 GoodMorning! @ goodmorning!
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D =SEARCH("A","Automation")

@ =SEARCH("a","Automation")

@ =FIND("a","Automation")

@ =FIND("A","Automation”)
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@ =HLOOKUP(C5,B2:F3,1)
® =VLOOKUP(C5,C2:F3,1)
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O =MOD(13,-3) = -2

@ =POWER(3,2) = 9

@ =INT(-7.4) = -7

@ =TRUNC(-8.6) = -8
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(O =ROUND(4561.604, 1) = 4561.6

@ =ROUND(4561.604, -1) = 4560

@ =ROUNDUP(4561.604, 1) = 4561.7

@ =ROUNDUP(4561.604, -1) = 4562
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@ =INT(32.2)
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@ =TRUNC(SQRT(B1))
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O =VLOOKUP(C8,$B%$2:$D$6,3,0)
@ =HLOOKUP(C8,$B%$2:$D%$6,3,0)
@ =VLOOKUP($B$1:$D$6,C8,3,1)
@ =-HLOOKUP($B$1:$D%$6,C8,3,1)
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